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����� A(t) � ŝ(t) �

M(t) = aA(t) − bŝ(t).

���	�
��� γ = ξa − μ �
�

���� ������������ ������������� ����������� � ��
� ���
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dA/dt = γA(t) + (1 + λ)K(t) − ξ(bŝ(t) + Ŝ(t)) + αδ(t).
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ẋ = f(t, x), t ∈ R, (1)
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 f : R × R
n → R

n ����
����
�� 
���� 
����

f(t, x) = ϕ(x) + h(t)

������������ ���������� ϕ(x) 	 ��	��������	��
���� ���	���� h(t) � 
��
�����
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 � �����	� x∗(t).

)�
�& C∗ , ������� ��
 ��������

x∗(0) = C∗.
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/����� �
���	
� ������ ���� � �� �����	� f :
"� )�
�& Sr ⊂ R

n , ������� � ��� ���	�
� r � 
����'��	� ������	
 �����	
 x∗(t) �
SR , ������� � ��� ���	�
� R � ��	��� Sr ⊂ SR � 	 
���
����� ����� ����'	���&���
�	
�� l < 1/(2T ) � ��� ��
 ��� � p, q ∈ SR 	���� ��
�� �������
���

|ϕ(p) − ϕ(q)| � l|p − q|.
*� 0���
����� ����� ����'	���&��� �	
�� M � (R − r)/(2T ) � ��� ��
 �
�� x ∈ SR 	

��� � t ∈ [0, T ] � ����
��

 �������
���

|f(t, x)| � M.

/ ������ $1% ��������� ��� � 2��� 
����� ��
���������&� � ��	��	'��	
� �������
�� �
��������	

y0(t, C) ≡ C,

ym+1(t, C) = C +
∫ t

0

[
f(s, ym(s, C)) − 1

T

∫ T

0
f(τ, ym(τ, C))dτ

]
ds (2)
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 ������ C ∈ Sr 
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 ���������� ��
 �
�� t ∈ [0, T ] � ��������� ���	��	��
���
�����		 y(·, C). )�	���� �
�	 � ����& C = C∗ � �� ���'��

� ���

y(t, C∗) = x∗(t).
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θm(C) =
∣∣∣∣
∫ T

0
f(τ, ym(τ, C))dτ

∣∣∣∣
2

,
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������� ������	 � 
��� 
���������� � ������� C∗.
� �������� 
������ ���� ����������� ������	��� ������� ������� 
���
�� � �������

������	 ��
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�

x(t) =
[

ξ(t)
η(t)

]
, ϕ(x) =

[
η − Q(ξ)
−g(ξ)

]
, h(t) =

[
1/2400

0

]
· sin(24t),

Q(ξ) = 0, 01ξ(1 + 2ξ2/3) � g(ξ) = 0, 03ξ. ����������� ��� �� 
����	 � �����	 ���������
 ������� ��	
����� 
���������	 � ������� C∗ �
�������� �

C∗ �
[ −1/57600

0

]
.
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�4(5? T3 K 5+ 70 +#62 5-+. 5�  � '41 (−π, π]3 ( (--5% 5(5%4LM"0 -5-N* (5%! #" 0

=+-5"%-=-!-N#67 3+)# 2. C K -*#-0 +#- '-0=! '(#- =+-(5+)#(5%-. L2(T3) K 3"!?�

1 +5-%- =+-(5+)#(5%- '%)*+)5"�#-�"#5 3+"+4 067 O'-0=! '(#-<#)�#67P ;4#'$"2. -=+ * �

! ##67 #) T3, Ls
2((T

3)2) K 3"!?1 +5-%- =+-(5+)#(5%- '%)*+)5"�#-�"#5 3+"+4 067 O'-0=�

! '(#-<#)�#67P ;4#'$"2. -=+ * ! ##67 #) (T3)2 " ("00 5+"�#67 -5#-("5 !?#- = + (5)�

#-%'" *%47 = + 0 ##67�

Q1-<#)�"0 � + < H =+904L (4004 =+-(5+)#(5% H0 = C, H1 =L2(T3) " H2 = Ls
2((T

3)2),
5�  � H = H0 ⊕H1 ⊕H2.

8)((0-5+"0 0)5+"�#62 -= +)5-+ H, * 2(5%4LM"2 % 3"!?1 +5-%-0 =+-(5+)#(5% H ')'

H =

⎛
⎝ H00 H01 0

H10 H11 H12

0 H21 H22

⎞
⎠ ,

3* 0)5+"�#6 R! 0 #56 Hlk : Hk → Hl, k, l = 0, 1, 2 -=+ * !9L5(9 =- ;-+04!)0

(H00f0)0 = w0f0, (H01f1)0 =
∫
T3

v1(t)f1(t)dt, (H10f0)1(p) = v1(p)f0,

GGHS


